
15,75 / 0,4 kV

250 kVA

dUz 4,5 % dPn 1,75 kW 
[SPv=23,70W]

RNN

ch

B1:1_1

WTNH 2C gG
80A 500V
5s [7,9W]
ETI POLAM

SzO + pom. energii

Pi=5,1 kW
Ps=5,1 kW
cosf

 
= 0,95

U = 400 V
UL = 50 V

kj=
1

K1:1

[Al] YAKY4x
120²
1 m

spos. ułoż. E
Iz=212A
PVC

SPi=8,20kW

Pobc=6,34kW
ch

B1.1:1_1

Wts
32A 690V
0,4s 
PN-87

słup nr 27/III

1 odb.wiej
Pi=0,2 kW
cosf

 
= 0,93

U = 230 V
UL = 25 V

L1.1:1

[Al] Al
35²
24 m

okres letni
Iz=175A

słup nr 28/III

cosf
 
= 0,93

U = 230 V
UL = 25 V

L1.1:2

[Al] Al
35²
39 m

okres letni
Iz=175A

słup nr 29/III

1 odb.wiej
Pi=0,8 kW
cosf

 
= 0,93

U = 230 V
UL = 25 V

L1.1:3

[Al] Al
35²
40 m

okres letni
Iz=175A

proj. lampa 1

1 odb.wiej
Pi=0,05 kW
cosf

 
= 0,93

U = 230 V
UL = 25 V

kj=
1

K1.1:4

[Al] YAKXS4x
35²
22 m

spos. ułoż. D2
Iz=147A
XLPE

ch

B1.1.1:1_1

DO1 gG
6A 690V
0,4s 
WEBER

Pi=0,05 kW
Ps=0,05 kW
cosf

 
= 0,93

U = 230 V
UL = 25 V

W1.1.1:1

[Cu] wlz
1,5²
6 m

spos. ułoż. E
Iz=18,5A
PVC

proj. lampa 2

1 odb.wiej
Pi=0 kW
cosf

 
= 0,93

U = 230 V
UL = 25 V

K1.1.2:1

[Al] YAKXS4x
35²
26 m

spos. ułoż. D2
Iz=175,5A
XLPE

ch

B1.1.2:2_1

DO1 gG
6A 690V
0,4s 
WEBER

Pi=0,05 kW
Ps=0,05 kW
cosf

 
= 0,93

U = 230 V
UL = 25 V

W1.1.2:2

[Cu] YDY3x
1,5²
6 m

spos. ułoż. E
Iz=22A
PVC

ch

B1.2:1_1

Wts
32A 690V
0,4s 
PN-87

słup nr 1/III

1 odb.wiej
Pi=0 kW
cosf

 
= 0,93

U = 230 V
UL = 25 V

L1.2:1

[Al] Al
35²
40 m

okres letni
Iz=175A

słup nr 2/III

1 odb.wiej
Pi=0,6 kW
cosf

 
= 0,93

U = 230 V
UL = 25 V

L1.2:2

[Al] Al
35²
52 m

okres letni
Iz=175A

słup nr 6/III

1 odb.wiej
Pi=1,2 kW
cosf

 
= 0,93

U = 230 V
UL = 25 V

L1.2:3

[Al] Al
35²
152 m

okres letni
Iz=175A

proj. lampa 3

1 odb.wiej
Pi=0,05 kW
cosf

 
= 0,93

U = 230 V
UL = 25 V

kj=
1

K1.2:4

[Al] YAKXS4x
35²
30 m

spos. ułoż. D2
Iz=147A
XLPE

ch

B1.2.1:1_1

DO1 gG
6A 690V
0,4s 
WEBER

Pi=0,05 kW
Ps=0,05 kW
cosf

 
= 0,93

U = 230 V
UL = 25 V

W1.2.1:1

[Cu] wlz
1,5²
6 m

spos. ułoż. E
Iz=18,5A
PVC

proj.lampa 4

1 odb.wiej
Pi=0 kW
cosf

 
= 0,93

U = 230 V
UL = 25 V

K1.2.2:1

[Al] YAKXS4x
35²
26 m

spos. ułoż. D2
Iz=175,5A
XLPE

ch

B1.2.2:2_1

DO1 gG
6A 690V
0,4s 
WEBER

Pi=0,05 kW
Ps=0,05 kW
cosf

 
= 0,93

U = 230 V
UL = 25 V

W1.2.2:2

[Cu] YDY3x
1,5²
6 m

spos. ułoż. E
Iz=22A
PVC


